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The test paper will be of four sections
SECTION-1  : INTELLIGENCE & CRITICAL REASONING
(50 Questions)
SECTION -1l : DATA ANALYSIS & SUFFICIENCY o S
(50 Questions) R
SECTION - 1l : LANGUAGE COMPREHENSION (ENGLISH & HINDI) o 2 i

SECTION - IV : MATHEMATICAL SKILLS

Part - Il : Personality Inventory Test Duration : 30 minutes
Section

(50 Questions)

(50 Questions)

: Intelligence & Critical Reasoning |
Sample Questions
In question Nos. 1-2 find the next term in the series.

3,8,13,18,2
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Question Nos. 34 are based on the followings passage :

A man leaves for his office from his house. He walks towards East. After moving a distance of
20m, he tums towards South and walks 10 m. Then he walks 35 m towards the West and further
5 m towards the North. He then tums towards East and walks 15m.

What is the straight distance in meters. ‘between his initial and final positions ?
"o ®5 ©10 (D) Cannot be determined.

The new position of the man is towards the,..............of the original position.
(A) west  (B) east (©) south-west (D) none of these.

How many 4's appear in the following sequence ?
3231242122341343423414323223123243212

A6 ®B)7 ©4 D)5 ‘
Find the odd one, out ‘
(A)Second  (B) Days (©Minute (D) Hour ‘

Riis on right of L. L. is on left of K.

X. Kis right of L.

Y. K is right of R.

(A Xisvalid  (B)Yisvalid (C) Both X and Y are valid (D) Cannot be determined
In question 8 an argument which consists of two or more statements is followed by a conclusion
(beginning with “Therefore!). You have to judge whether o not the conclusion necessarily follows
from the statement givenand indicate your answer s true, false, probably true probably false or rannot
be determined. You are not concerned with the truth or falsity of any statement or conclusion given.
Actually most of the statements are absurd.




[image: image2.png]8. Ajanta is in Maharashtra. Maharashtra is in India. Therefore, Ajanta is in India.
() True (B) False
(C) Probably true (D) Probably false
Section - II : Data Analysis & Sufficiency
Sample Questions
Directions : The pie chart below shows how Anand spent his eamnings for one year.
Study the chart carefully and answer question Nos. 1-8.

1. 1f Anand spent Rs. 3500 on recreation during the ear, the amount spent on clothing was ?
ﬁ)‘ Rs. 3500 (B) Rs. 2450 (C)Rs. 3980 (D) Rs. 4550
and had to pay medical bills worth Rs. 3720. He estimated that if he cut down his expenditure on
hobbies, recreation and gifts to half, then he could pay the bills. What was the annual income of
Anand ?
(A) Rs. 10000 (B) Rs. 12500 (C) Rs. 15500 (D) Rs. 17500
3. What is the combined angle in the central sector due to recreation and savings ?
(&) 40 (B) 80 (C) 100 (D) 144
DIRECTIONS For Q. 4-6
The following table gives employment statistics of various levels of managers in four department of
XY Lid. company for a given year. Study the table carefuly and ansiwer the following questions.

Table : DEPARTMENT WISE MANAGERIAL STRENGTH OF XY LTD.

D‘“‘L“;“;‘e‘“ Matketing |  Finance Personnel /| Production Total. -
Sl 15 10 12 25 62
Managers.
Ml kv 45 0 35 55 175
Managers.
i 70 60 43 60 233
Managers
Total 130 110 9% 140 470
4. T which department the proportion of middle level managers to total managers is maximum?
(A) Markeling ) Firance (©) Personnel D) Production
5. What is ratio of Juriior level manager to total managers in the company ?
(#0298 8049 (©0429 0512

6. What is the ratio of managers in both Personnel and Production deparfment to the managers in
both Markefing and Finance departments 2
(A) 88.00% (B) 104.35% (C) 95.83% (D) 74.07%

]
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The results of a survey done to find the monthly turnover of some shops are represented below.

Study the bar chart carefully and answer the following questions.
—>

Tumover in thousands
=

No. of shops —»

10

ummsnu:ﬂsrnycnq
7. What percentage of shops has a tumover of over Rs. 36 thousand ?

A)20% (B) 26% ©) 5% (D) 20%
8. How many shops have tumnaver between Rs. 32 & Rs. 38 thausand ?
(A) 35 (B) 105 © 20 (D) 55

Section - Il : Language Comprehension (English and Hindi)

Sample Questions (English)
I question Nos. 1-2 chaase the word which is most nearly opposite in meaning (Antargrm) o the

word in capitals,
1 EXTRINSIC :
(A) Severe (B) Shallow
(©) Incidental (D) Inherent
2. AMBIGUITY
(A) Contamination (B) Fester
(©) Maturate (D) Transparency
n question Nos. 54 choose the word which 1s niost neariy squal In inéaning (SYNONYM) of the
word in capitals. y u
3. INCITEMENT :
(A) Turmoil (B) Stimulus
(©) Calm (D) Excitement
4.  GRUESOME
() Dark (B) Rude.
(C) Ghastly (D) Beautiful
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Question Nos. 5-6 below consist of two words with a certain relationship to each other followed
by five lettered pairs of related words. Select the lettered pair of words. that has the some
relationship as the original pair of words.

GERM : DISEASE ::
(A) Doctor : Medicine (B) Shop-keeper : Goods.
(C) War : Destruction (D) Ecology : Pollution

IMMIGRATION : ENTRANCE ::

(A) Emigiation : Departure  (B) File : Knife

(C) Nest : Bird (D) Customs : Exit

In question Nos. 7-8 pick up the correct meaning of the idioms given in CAPITALS.
1 do not MINCE MY WORDS.

(A) take back my words (B) speak hesitatingly

(C) shout (D) none of these.

“TO COOL THE HEELS”

(A) to dip one’s feet in water (B) standing for someone in shade

(©) to apply balm on heels (D) none of the above.

READ THE PASSAGE BELOW AND PICK UP THE CORRECT ANSWER FOR QUESTION
Nos. 9-11 WHICH FOLLOW.

The idea goes back to the teaching of Buddha that...........
The main idea of the passage is

@) . ®)

© . o)

‘The most appropriate itle of the 'passage is

@ . : ®) .

© - 5 o) ... e
The style of the author is

@) ... J ®) ..

© .. D) e

In question Nos. 12-13 a sentence is given with a blank space, indicating that a word(s) has been
omitted. Pick up the wordys) which when inserted in the blank space best fits in,with the meaning
of the sentence as a whole.

Alittle singerity is a dangerous thing, and a lot of i is.. .. fatal.

(A) entirely (B) thoroughly

(C) absolutely (D) probably

Many countries have now succeeded in.. ...thie” malaria mosquito.

(A) erasing (B) removing A ;

(C) obliterating (D) eradicating





